Intermediate Algebra - 5.7 - Solving Equations by Factoring September 30, 2015

HW #10 - due Fri, 10/2

5.7 #35-750dd Solving equations by factoring

5.7 Solving Equations by Factoring

Zero Product Property:
If AB=0, then A=0 or B=0

Example:
(x+2)(x-5)(3x+4)=0
Set each factor = 0 and solve for x.

Xt2=0 X=B 0 3x+4=0

- -1
Example of what not to do: X /3

(x-3)(x+4)(x-2)=5

sz
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5.7

(4. Xx-b=0
@+3Xx-2)=0O
X+3=0Q) X-2=0
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40, (x2)(x-l) =20
(x+2)(x-0) =20 =O
K—px+2x—12—20 =
X=4x-32=O
=D&+ =0

X-%¥=0 X+4 =Q

J

X=X ) x=—%
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3
3. X -3x-4=0
N—~—~
x’*(Zx-)—D_ 4<Qx +D =0
(2x+ D ()C—-AO =Q

(2x+B(x+z)(x-2> =0
Z?&gr(\_:o x+2=0 X-2=0O

32. t(£+V =42 42 . <0-‘q)<0u—l>=-'-}
g*f?ﬁz—o & -a-%a+Q =-F
+T—14°~ Z )
(++PDE-6)=0 a(o: Eos%af % :%
w320 ,60"C A-=0 ,0-2=0

. (2-0) *b =10 50. 2 -BiC-3x+ 220
A-Forls +b =10 PN ]
4h—qor2 10 =C X (3%2) - 1(3x)0
2&31—“'% -o= O (4'7\2’0(,5 )(-’Z) =0
R(b*-2b-3) =0 2x-)(2x+ D x3)=D
b3 Yo+ ) =0 Ix—1 =0, Zx+l =DJ3)("Z"U

b-3 =0 , b+( =0
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52. =X t4x-2 ,f@©@=3
Find all values of ¢ ¢ which f©=3
f=c*+ 42
Ci+r4c-2 =3
cC*+4¢c -5 =0
(c+axe- D=0
5 =0 ,C~-1=Q
C=-5, |

58. §69=x434x-11 ()=
X4 BaE-4x-1\ = |
3 2
L Ex12=0
x2<x+5> —4(x+3) =0
(x+3)(x*~t) =0
¢ x4 5)(><~2>(><+2> =0
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ot I =R
7() T+ x =0
>\<7< %x+7—> =)

KE T XK= ) = O o (x-0)K-Dbx- =0
X = C)ﬁL\L

12 . hetsh’to‘% o AN is 4em more
thaa twice 4he len +k o

'A(WO\ of AN is 35 e Find ke‘jlrr\-

nﬂH'LoF base.

}'lB\ =4 +°2 /Q
Amﬂ&* 3 (logthef 5"&)0"“"\31‘7}

zuz <4+.:zfz)

35=24 + L m.ght
QO=L0"+20-35 ++24
0=(g+D(4-S) =1+2(5)
% L=5 =4 +10



Intermediate Algebra - 5.7 - Solving Equations by Factoring

O. N
© X+ X =132
X2+x =132 =0

<?§-r \2>Q<~L l) = O

0% X+ 7x=BX
X=BxX +Fx=0
X (x2~%>\+7) =0

X X-2)Xx=1)>0
X=0,%,
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D:‘#"'O‘F'dl(k MQ-_S
N =# of 5 of a\oélaon

n(n-3)
5AY - 2.
|0% =n"—3n
O=n-on-10%

CERGGEUSED

=13 3%



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

